10

11

12

13

14

15

16

17

18

19

x 1942 = 0

X 1942 = 1942
X 1942 = 3884
X 1942 = 5826
X 1942 = 7768
x 1942 = 9710

X 1942 = 11652

X 1942 = 13594

X 1942 = 15536

X 1942 = 17478

X 1942 = 19420

X 1942 = 21362

X 1942 = 23304

X 1942 = 25246

X 1942 = 27188

x 1942 = 29130

X 1942 = 31072

x 1942 = 33014

X 1942 = 34956

X 1942 = 36898

Multiplication Table for 1942
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20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

x 1942 =

x 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

x 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

X 1942 =

38840

40782

42724

44666

46608

48550

50492

52434

54376

56318

58260

60202

62144

64086

66028

67970

69912

71854

73796

75738

77680

79622

81564

43

44

45

46

47

48

49

50

X 1942 = 83506

X 1942 = 85448

X 1942 = 87390

X 1942 = 89332

X 1942 = 91274

X 1942 = 93216

X 1942 = 95158

X 1942 = 97100
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